No. of Printed Pages : 4

2

4

PE4001 ROINOG. ¢ veveveeeeeeenennnnnne
May 2024
ARTIFICIAL LIFT TECHNIQUES

frufta w39 [ferehae 31 : 60
Time allowed : 3 Hours] [Maximum Marks : 60
e () TA-EAATIRAG AT HE

Note : There are THREE sections in the paper A, B and C.

(i) QFIT-T F X GG F G 10 7T % IR T | TF T G 3% B
vg @ 10 9777 TGI8 JHR & Jo71 & & |

Answer all the 10 parts of the question No. 1 in Section A. Each part
carries one mark and all 10 parts have objective type questions.

(iii) QFIT-T % 8 T 4 8 35761 6 FI B IR T | I F97 3 3% T & 0
5757 5 s / 50 WGl 7 IR AT |

Answer any 6 questions out of the 8 questions in Section B. Each question
carries 3 marks and to be answered within 5 lines / 50 words.

(iv) QRIT-H 36 T 7 @ freg] 4 597 & IR T | T I97 8 3% BT 8 T
s7H7 15 8T / 150 98] 7 3t/ 7w |

Answer any 4 questions out of the 6 questions in Section C. Each question
carries 8 marks and to be answered within 15 lines / 150 words.

(v) % QI % G g1 1 FHER G A1 5 HIIT |
Solve all the questions of a section consecutively together.
(vi) @ TSI & 37 817 1 R 7 3T S # A 8 |

Only English version is valid in case of difference in both the languages.

RE —T
Section — A
1. () B Icured o foru Jam T i wlma e @
(a) TR (b) oA T
(c) o EgeiRe (d) T APE T
The process of making a well ready for production is called
(a) Workover (b) Well completion
(¢) Well stimulation (d) None of these

A ﬂ (1 of 4) P.T.O.
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XTI IcATEH AT ! GoY 37 aig 9 Fafa foren S gehar 2

(a) TEHR (b) Ifiam

(c) TSI (@) o

The reservoir product capability can be best illustrated by

(a) IPR (b) TPR

(c) WPR (@ TIC

frfaRaa § @ 5 & qebiss &1 STTad FT | Gaiieren ITNT foFaT ST g ?
(a) 7o faw (b) THAXH

(c) IR fowe (@) < foawe

Which of the following techniques is most used in offshore wells ?
(a) Gaslift (b) SRP

(¢) Plunger lift (d) Chamber lift

Ty Yl W T HaeTs §

(a) TR T IE (b) wW-favans

(c) Wyl fire (d) T4 HIE T

SPM stands for

(@) Sucker Pump Move (b) Self-Potential Mud
(¢) Stroke Per Minute (d) None of these

g 3R ) 3frenan feha) TEUE G T R ThaT ] 7

(a) 5,000 %R (b) 10,000 %I

(c) 15,000 %R (d) 20,000 %

What is the maximum depth that a SRP can typically operate at ?
(a) 5,000 feet (b) 10,000 feet

(c) 15,000 feet (d) 20,000 feet

Frefafaa # @ w9 &t $hm fawe T 1 3Tm 3= TEn, S0 W % g
fepar S @ 7

(a) Tofaw (b) 3@,

(c) TE.IMUL (d) dr=dn.

Which of the following artificial lift techniques is used for high volume, low
viscosity ?

(a) Gaslift (b) ESP

() SRP (d PCP

AR T F=T GOR 911 371 o forw st #ft 71 forvre. aehriien ot Su=mT fopam s & 7
(a) TR e fowe (b) STaUREs T fawe

(c) R fawe (d) o faw

Which gas lift techniques is typically used for wells with high GOR ?

(a) Continuous Gas Lift (b) Intermittent Gas Lift

(¢) Plunger Lift (d) Velocity String Lift
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(1x10)

(B of4)
(viii) s aftim geetg o foT 3w fopan ST aren sk Ela = 2 ?
(a) SNl 3o (b) THicRs A o
(c) Tom@arT (d) T 9 I3 TE
What is the most common power source used for beam puming unit ?
(a) Diesel engine (b) Natural gas engine
(c) Electric motor (d) None of these
3.0, &I S HT TR AT RS ?
() 3 T IEY (b) TSI TR 9 AT
(c) U T AN (d) = TWE@E
What is the main advantage of using ESP ?
(a) Handle high volume (b) Operate at great depth
(c) Low operating cost (d) Minimum maintenance
ot &9 & Afyzofiy feeemam wfseen 3 fog nfosfierar o 2
(@ 0 (b) 1
(c) I (d) ThRIHH
What is the mobility ratio for a completely immiscible displacement process ?
(@ O b) 1
(c¢) Infinity (d) Negative
Qo — &t
Section — B

2. bW AR (AL) i aidTiyd i |
Define Artificial Lift (AL).

3. I

FBm forwe o = <6t fafy o == HifT |

Discuss the procedure of selection of suitable artificial lift.

T foree o qot A ARSI ThR 6t =t HivT |

Explain three basic types of gas lift installation.

5. TE.R.A, < efl Tag Sk <Al G SIS |
List all the surface equipments of SRP.

6. fogdia igssht wr o Rrgra w2 ?

What is the principle of Electrical Submersible Pump ?

7. dRfAwe w7
What is Chamber Lift ?
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8.

10.

L1

12.
13.
14.

15.

St 37 3R, 1 gRTiya iR |
Define GOR. 3

TarRTe ScaTeehar geresies 7T & 7
What is specific productivity index ? A3)

A -t

Section — C

Tt St oy g 2 7 o % 1 H % fagra i srEn S |

What is progressive cavity pump ? Explain principle of working of PCP. (2+6)

STTCHAT Heehieh ! gRTfia SHifme | T HTEROT 3.6, % wEe Ak QY
ST |

Define Productivity Index. Draw a simple IPR and also indicate the Qnax- (4+4)
e fore figer o @ 2 g fowe & @y 3R Fepam o frfaw |

What is gas lift mandrel ? Also write advantage and disadvantages of gas lift. 4+4)
SUHAR T T T8 o e i Ui HITT |

Describe the operation of subsurface sucker rod pump. )]
ERLE R STt <ht hrivoTTett i T Fm % T wmEsT |

Explain the working procedure of ESP system with neat diagram. t))

serEferd afei gfie % il firgr 6t s Hif |

Explain the working principle of hydraulic pumping unit. ®




